L I8 B =4

D EIENE | 75 E1RKE

paR- ki

EH 22120.
iR
RE[BRARKSI
BRIEFERENEES.
vl BIE
K FEAEE D EIRE 180° , T FALBE HHE
. OER, RE EEMBEL (e FFREH).
o TE5 1.4305 F2ER
ElEHF e
.m0 L EREW
- THW 14305, #R RIEAFA BT,
HiE FZEm
- UIHIM , B o

! ; s XEE, AToEER Mo BEME | ES

* TROBASE 1.4404 - RAINE, BRT SRR B
o S s XEE ERTIEREN D ZEMCE
- RBMH , B6, THEN

Em

Ly
- l5 ds
_-N
1 Y . ) § natched catch
5 - plastic grip - j
/)
™~ ™~
”l & LJ L %

u_'_‘ dy lock nut

22120.0115 — .0120 (steel)

dy picture 1 picture 2 22120.0515 — .0520 (stainless steel)
TRER
R+ WEHE" & (9
dy d; d; Iq I, I3 Iy Is Fy F; min max.
-0,02 = =
-0,04
[mm] [N] [°C] [9]
EBFTLERKE - 85 1, BEIYIA
4 M10 x 1 10 37,5 6 19 21 - 7,0 20,0 - 250 17 22120.0302
5 M10 x 1 10 37,5 6 19 21 - 7,0 20,0 - 250 18 22120.0304
6 M10 x 1 10 37,5 6 19 21 - 7,0 20,0 - 250 18 22120.0306
5 M12 x 1,5 12 47,0 8 26 26 - 8,5 19,5 - 250 29 22120.0313
6 M12x 1,5 12 47,0 8 26 26 - 85 19,5 - 250 29 22120.0314
6 M16 x 1,5 16 56,0 10 30 32 - 11,5 30,5 - 250 75 22120.0316
8 M12x 1,5 12 47,0 8 26 26 - 8,5 19,5 - 250 30 22120.0315
8 M16 x 1,5 16 56,0 10 30 32 - 11,5 30,5 - 250 61 22120.0317
8 M20 x 1,5 20 69,0 12 36 37 - 21,0 57,5 - 250 121 22120.0318
10 M16 x 1,5 16 56,0 10 30 32 - 11,5 30,5 - 250 64 22120.0319
10 M20 x 1,5 20 69,0 12 36 37 - 21,0 57,5 - 250 128 22120.0320
12 M20 x 1,5 20 69,0 12 36 37 - 21,0 57,5 - 250 127 22120.0322
VGt FE

R 8 2
tNHALDER FIBEE: 15.1.2024


http://halder.com/cn/22120.0302
http://halder.com/cn/22120.0304
http://halder.com/cn/22120.0306
http://halder.com/cn/22120.0313
http://halder.com/cn/22120.0314
http://halder.com/cn/22120.0316
http://halder.com/cn/22120.0315
http://halder.com/cn/22120.0317
http://halder.com/cn/22120.0318
http://halder.com/cn/22120.0319
http://halder.com/cn/22120.0320
http://halder.com/cn/22120.0322

L I8 B =4

PEIEMNME / 2 EIRE
R~ WENE" s 0 =5
d, d, d; I4 I, I3 Iy Is Fq F, min max.
-0,02 ~ ~
-0,04
[mm] [N] [°C] [a]
BFRERKEE - 0 1, THEW
4 M10 x 1 10 37,5 6 19 21 - 7,0 20,0 - 250 17 22120.0308
5 M10 x 1 10 37,5 6 19 21 - 7.0 20,0 - 250 18 22120.0310
6 M10 x 1 10 37,5 6 19 21 - 7.0 20,0 - 250 18 22120.0312
5 M12x1,5 12 47,0 8 26 26 - 8,5 19,5 - 250 29 22120.0323
6 M12x1,5 12 47,0 8 26 26 - 8,5 19,5 - 250 29 22120.0324
6 M16x 1,5 16 56,0 10 30 32 - 11,5 30,5 - 250 75 22120.0326
8 M12x1,5 12 47,0 8 26 26 - 8,5 19,5 - 250 30 22120.0325
8 M16 x 1,5 16 56,0 10 30 32 - 11,5 30,5 - 250 61 22120.0327
8 M20 x 1,5 20 69,0 12 36 37 - 21,0 57,5 - 250 121 22120.0328
10 M16 x 1,5 16 56,0 10 30 32 - 11,5 30,5 - 250 64 22120.0329
10 M20 x 1,5 20 69,0 12 36 37 - 21,0 57,5 - 250 128 22120.0330
12 M20 x 1,5 20 69,0 12 36 37 - 21,0 57,5 - 250 127 22120.0332
BFEEEREE -85 2, ZHITN
5 M12x1,5 12 47,0 8 26 - 32 8,5 19,5 -30 80 30 22120.0353
6 M12x1,5 12 47,0 8 26 - 32 8,5 19,5 -30 80 30 22120.0354
6 M16 x 1,5 16 56,0 10 30 - 42 11,5 30,5 -30 80 61 22120.0356
8 M12x1,5 12 47,0 8 26 - 32 8,5 19,5 -30 80 32 22120.0355
8 M16 x 1,5 16 56,0 10 30 - 42 11,5 30,5 -30 80 63 22120.0357
8 M20 x 1,5 20 69,0 12 36 - 52 21,0 57,5 -30 80 124 22120.0358
10 M16x 1,5 16 56,0 10 30 - 42 11,5 30,5 -30 80 66 22120.0359
10 M20 x 1,5 20 69,0 12 36 - 52 21,0 57,5 -30 80 128 22120.0360
12 M20 x 1,5 20 69,0 12 36 - 52 21,0 57,5 -30 80 131 22120.0362
BFERREE - B 2, THN
5 M12x1,5 12 47,0 8 26 - 32 8,5 19,5 -30 80 30 22120.0363
6 M12x1,5 12 47,0 8 26 - 32 8,5 19,5 -30 80 30 22120.0364
6 M16 x 1,5 16 56,0 10 30 - 42 11,5 30,5 -30 80 61 22120.0366
8 M12x1,5 12 47,0 8 26 - 32 8,5 19,5 -30 80 32 22120.0365
8 M16x 1,5 16 56,0 10 30 - 42 11,5 30,5 -30 80 63 22120.0367
8 M20 x 1,5 20 69,0 12 36 - 52 21,0 57,5 -30 80 124 22120.0368
10 M16 x 1,5 16 56,0 10 30 - 42 11,5 30,5 -30 80 66 22120.0369
10 M20 x 1,5 20 69,0 12 36 - 52 21,0 57,5 -30 80 128 22120.0370
12 M20 x 1,5 20 69,0 12 36 - 52 21,0 57,5 -30 80 131 22120.0372
Vit EiE
8
R RFERYF 3 5=
d;
[mm] [mm] [a]
Lock nuts ISO 8675 (DIN 439),
M10 x 1 16 52 22120.0115
M12x1,5 18 75 22120.0116
M16 x 1,5 24 15,0 22120.0118
M20 x 1,5 30 32,0 22120.0120
Lock nuts ISO 8675 (DIN 439), T84/
M10 x 1 16 52 22120.0515
M12x1,5 18 75 22120.0516
M16 x 1,5 24 15,0 22120.0518
M20 x 1,5 30 32,0 22120.0520

g

For detailed compliance information please select the desired article number.

2w 2
EE HALDER & 7E: 15.1.2024


http://halder.com/cn/22120.0308
http://halder.com/cn/22120.0310
http://halder.com/cn/22120.0312
http://halder.com/cn/22120.0323
http://halder.com/cn/22120.0324
http://halder.com/cn/22120.0326
http://halder.com/cn/22120.0325
http://halder.com/cn/22120.0327
http://halder.com/cn/22120.0328
http://halder.com/cn/22120.0329
http://halder.com/cn/22120.0330
http://halder.com/cn/22120.0332
http://halder.com/cn/22120.0353
http://halder.com/cn/22120.0354
http://halder.com/cn/22120.0356
http://halder.com/cn/22120.0355
http://halder.com/cn/22120.0357
http://halder.com/cn/22120.0358
http://halder.com/cn/22120.0359
http://halder.com/cn/22120.0360
http://halder.com/cn/22120.0362
http://halder.com/cn/22120.0363
http://halder.com/cn/22120.0364
http://halder.com/cn/22120.0366
http://halder.com/cn/22120.0365
http://halder.com/cn/22120.0367
http://halder.com/cn/22120.0368
http://halder.com/cn/22120.0369
http://halder.com/cn/22120.0370
http://halder.com/cn/22120.0372
http://halder.com/cn/22120.0115
http://halder.com/cn/22120.0116
http://halder.com/cn/22120.0118
http://halder.com/cn/22120.0120
http://halder.com/cn/22120.0515
http://halder.com/cn/22120.0516
http://halder.com/cn/22120.0518
http://halder.com/cn/22120.0520

